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Problem 2-1

Fa,b(a#£0) 2 AL, e D1RGERNax =bDfE2HIT52a—-F2ET. o
FNERA R 2 M ETRRT B L.

Sample Code

#include <stdio.h>

int main(void)

{
double a, b;
scanf ("}1£f%1f", &a, &b);
printf ("%.2f\n", b/a);
return O;

}



Problem 2-2

B a,b,c(a#0)ZANEL, D 2RFER az? + bx +c = 0 OfFDMEEZ 1T
53— RKzHT.

Sample Code

#include <stdio.h>

int main(void)
{
int a, b, ¢, D, ans;
scanf ("%d%d%d", &a, &b, &c);
D = b*xb - 4xaxc;
if(D == 0) {
ans = 1;
} else if(D > 0) {
ans = 2;
} else {
ans = 0;
}
printf("/d\n", ans);

return O;



Problem 2-3

B a,b,c(a#0)ZANEL, oD 2R az? + bx + ¢ = 0 DFERIREZ B 1T 2
I—RN2EHT. BINUGA T 260 £ TERRL, FBMPFAEL 20 & 1 Tnothing]
LiihdasZ .

Sample Code

#include <stdio.h>
#include <math.h>

int main(void)
{
int na, nb, nc, D;
scanf ("%d%d%d", &na, &nb, &nc);

D = nb*nb - 4*nax*nc;

double
double
double
double

(double) na;
(double) nb;
(double) nc;
sqrt ((double) D);

Q. 0 T e
I

if(D == 0) {

printf("x = %.2f\n", -b / (2*a));
} else if(D > 0) {

printf("x = %.2f, %.2f\n", (-b + d) / (2*%a), (-b - d) / (2%a));
} else {

printf ("nothing\n");

return O;



Problem 2-4
FE# a,b,e,c,d, f E AT UT, x,y DENFFER

ar+by=ce
cx+dy=f

ZfE a—REFT. 72720, BPMFELRY, I3 DITEX 57\ e EiF Terror )
bt/ e

Sample Code

#include <stdio.h>

int main(void)

{
int na, nb, nc, nd, ne, nf;
scanf ("%d%d%d%d%d%d", &na, &nb, &ne, &nc, &nd, &nf);
double a = (double) na;
double b = (double) nb;
double ¢ = (double) nc;
double d = (double) nd;
double e = (double) ne;
double f = (double) nf;
double x = (d*e - bxf) / (a*xd - bxc);
double y = (a*xf - cxe) / (axd - b*c);
if (na*nd - nb*nc == 0) {
printf ("error\n") ;
} else {
printf("x = %.2f, y = %.2f\n", x, y);
}
return O;
}



W REE
2 3% 1 AR
ar+by=e--(1)
cx+dy=f--(2)
IZD2W\WT

(1) xb: adz+bdy =de--- (1)
(2) xd: bex+bdy =bf---(2)
THdM6, (1) - (2)&D
(ad — be)x = de — bf
Ed
(1) xc: acx+bey=ce---(1)"
(2)xa: acx+ady=af---(2)"
Thdno, (2)"—-1)"&D
(ad —be)y = af —ce

UEED .y .
€ aj —ce
v ad — bc’ y= ad — be (ad—bc#0 DL &)

fpld7e U £ RIIAE  (ad—be=0D & &)




Problem 2-5
FEBa,bZEANELT, a bOBRAANEEZLR 1T 53— RE2ET.

Sample Code

#include <stdio.h>

int main(void)
{
int a, b, tmp;
scanf ("%d%d", &a, &b);

int next_a, next_b;
while(b > 0) {
next_a = b;
next_b = a % b;
a = next_a;
b = next_b;

printf ("%d\n", a);

return O;



Problem 2-6
EEH a, b2 ANELT, a/b ZBERAETHNTSa—-FE2ET.

Sample Code

#include <stdio.h>

int gcd(int a, int b)

{
int next_a, next_b;
while(b > 0) {
next_a = b;
next_b = a % b;
a = next_a;
b = next_b;
}
return a;
}

int main(void)

int a, b, g;
scanf ("%d%d", &a, &b);
g = gcd(a, b);

if(b/g == 1) {

printf ("%d\n", a/g);
} else {

printf("%d/%d\n", a/g, b/g);
}

return O;



Problem 2-7
EBBnZ2 A1 UT, /nZ2fliicTsa— N2ET.

Sample Code

#include <stdio.h>

int main(void)

{

int n;

scanf ("%d", &n);

int i, m;

m=1;

for(i = 2; ixi <= n; i++) {
while(n % (i*i) == 0){

n=n/ (ixi);
m=m * i;

}

}

if(n == 1) {
printf("%d\n", m);

} else if(m == 1) {
printf("_/%d\n", n);

} else {
printf ("%d_/%d\n", m, n);

}

return O;

}



Problem 2-8

B a,bc(a#0) AL, 2D 2RFGER az? +br+c=0DfEE 11T 53—
FaEHT. 72720, FEBEMPEIEL LW E 13 Tnothing] EHINTHZ L.

Sample Code

#include <stdio.h>
#include <stdlib.h>

/* a,b DERRRMEEET */
int gcd(int a, int b)

{
int next_a, next_b;
while(b > 0) {
next_a = b;
next_b = a % b;
a = next_a;
b = next_b;
}
return a;
}

/* a/b ZBENSEE UTHINT S (BT8R 0) */

void printfrac(int a, int b)

{
int g = gcd(abs(a), abs(b));
if(a % b == 0) {
printf ("%d", a/b);
} else {
printf ("%d/%d", a/g, b/g);
}
}

int main(void)
{

int a, b, c;
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scanf ("%d%d%d", &a, &b, &c);

/¥ a>0 5K 5 x/

if(a < 0) {
a x= -1;
b *= -1;
*= —-1;
}

/% HIRIAAY 0 BUF DA T BILEL */

int D = b*b - 4xa*c;

if(D < 0) {
printf("nothing\n");

return O;

}

if(D == 0) {
printf("x = ");
printfrac(-b, 2*a);
printf ("\n");
return O;

}

/* D =d2_/d1 &L, d1, d2 %KD 3
int n, m, i;
int d1 = 1;
int d2 = D;
for(i = 2; ixi <= d2; i++) {
while(d2 % (ixi) == 0){
d2 d2 / (i*i);
di dl * i;

/¥ d2 =1 D& E, RIZAHBELD */
if(d2 == 1) {

printf("x = ");

printfrac(-b + di, 2%*a);

printf (", ");
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printfrac(-b - d1, 2%*a);
printf("\n");

return O;

/* b,d1,2a DERARXNEE g &35 */
int g = gcd(abs(b), gcd(abs(dl), abs(2*a)));
if(2xa/g == 1) {

if(dl/g == 1)

printf("x = %d +/- _/%d\n", -b/g, d2);
} else {
printf("x = %d +/- %d_/%kd\n", -b/g, di/g, d2);
}
} else {
if(d1l/g == 1) {
printf("x = (%d +/- _/%d) / %d\n", -b/g, d2, 2*a/g);
} else {
printf("x = (kd +/- %d_/%d) / %d\n", -b/g, di/g, d2, 2*a/g);
}
}
return O;
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